
SHOREMASTER.COM

5-Sided Dock Leg Posts & Leg Pockets

DETAIL  A
SCALE 1/25DETAIL  B

SCALE 1/18

A

Parts List
DESCRIPTIONPART NUMBERQTYITEM

Nut Square 1/2-13 Brass100179341
Nut Flange 3/8-16 Brass100180262
Nut Hex 5/16-18  Brass100180723
Bolt Carriage 3/8-16 x 1.0 SS 304100195644
Bolt Carriage 5/16-18 x 2.5 SS 304100197025
Bolt Hex 3/8-16 x 3.0 SS 304100243226
Set Screw 1/2 - 13 x 1.5100255847
Channel 2.0 - Connector100435018
Tube 39.5 - Lower Leg Assy100505619
Channel 6.01004704110
Prt Tube 36.01004991111

B

.

 
 

Uni Dock Deep Water Brace Pair
Instructions
Part #: 1006736

10

11

9

8

1

2

3

4

5

6

7

Failure to follow instructions may 
result in personal injury and may 
invalidate the applicable warranty.
 

Note: Leave all fasteners loose until 
completely assembled to allow for desired 
adjustment.
 

Step 1. Assemble deep water braces as 
shown with channel 6.0 secured to prt tube 
36 with 5/16 x 2 1/2 carriage bolt and 5/16 
hex nut, then slide prt tube 36 into tube 39.5.
 

Step 2. Place channel 2.0 over dock leg 
post and attach deep water brace using 3/8 
x 3.0 hex bolt and 3/8 flange nut.
 

Step 3. Insert 3/8 x 1.0 carriage bolts into 
t-slot in bottom of dock frame rail using 
access holes in bottom of dock frame rail.
 

Step 4. Place channel 6.0 of deep water 
brace under the carriage bolts from Step 3 
and secure using 3/8 flange nuts.
 

Step 5. Adjust deep water braces to 
desired position and tighten all fasteners.

Deep Water Brace

Dock Leg Post

Uni Dock
Side Rail




